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Komolyh O.M., head of genetics group, Komolyh V.O., research officer
TO THE TECHNIQUE OF CALCULATION OF RELIABILITY
OF DIFFERENCE BETWEEN TWO DATES

The way of calculation of reliability of difference between two dates without taking into account
mean-square deviation (when it is absent) n=2 is described here.

Calculations by the offered formula are compared to results calculated by Student. Conformity of
reliability of difference of calculations by the offered formula have coincided with reliabilities of dif-
ferences by Student.

The scale of three thresholds of reliability of difference - 1: 2: 3 is given. Offered method al-
lows to work with parameters of values when it is impossible to construct a variation line and to calcu-
late mean-square deviation.
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=15+15–2=28

 1

-
-

x ± m
6,22 ± 0.18 5,43 ± 0,23 6,23 ± 0,24 7,97± 0,27 5,62 ±  0,36

6,22 ± 0,18 +27,2  t1 0,30 ‹ t1 5,47  t3 0,20 ‹ t1
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5,43 ± 0,23 2,52 t1 7,06  t3 0,44 ‹ t1

6,23 ± 0,24 4,75 t3 1,49 ‹ t1

7,97 ±  0,27 5,22  t1

:  : t = (x1 –
x2) / (m1

2 + m2
2) tst = 28 : t1 = 2.02; t2 = 2.70 ; t3 = 3,55 .

 1. -
-

, -
.

-
.

 2

6,22 5,43 6,23 7,97 5,62

6,22 3,39 1 0,16 ‹ 1 6,17  1 2,53 ‹ 1

5,43 3,55 1 9,48  2 0,86 ‹ 1

6,23 6,01 1 2,69 ‹ 1

7,97 8,65  2

 2 
 = (100 1 / 1 + 2) – 50 

, -
 –  = ( 1 / 1 + 2) – 0,5.

 100 -

.   
, 1

= 2,  = (100 1 / 1 + 2) – 50 = 0,0,

, 
.

 1

 t

 – 2,72 t1 3,39 1
 – 0,30 ‹ t1 0,16 ‹ 1

 – 5,47 t3 6,17 1
 – 0,20 ‹ t1 2,53 ‹ 1
 – 2,52  t1 3,55 1

 – 7,06 t3 9,48 2
 – 0,44 ‹ t1 0,86 ‹ 1

 – 4,75 t3 6,01 1
 - 1,49 ‹ t1 2,69 ‹ 1
 – 5,22 t1 8,65 2

-

: 1 = 2,81 – 6,79; 2 = 6,5 – 9,99;
3 = 10,0 . -
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